INFIQ GRADE 1 WORKSHEETS

Advanced Addition - Word Problems

Name Date

Solve the following word problems.

Xavier has 10 t-shirts and Brayden has 9 t-shirts. How many t-shirts do

they both have in all? %

t-shirts
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E Penelope bought 1 chocolate bar. Isla bought 7 chocolate bars. How many
. chocolate bars did they both buy in all?

chocolate bars

N
.
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Nova's garden has 3 trees. Stella's garden has 11 trees. How many trees
are there in both gardens combined?
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A gaming shop sold 4 gaming consoles in the morning and 8 gaming
consoles in the evening. How many total gaming consoles did the shop
sell during the day?

gaming consoles
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